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 Homework 1.
1. What is the difference between incidence rate and risk?

2. In a mass screening of 5000 women, 25 of these were found to have breast cancer. During the next 5 years 10 more of the examined women developed breast cancer.  Calculate the  point prevalence of breast cancer in this population. What is the risk of developing breast cancer among these women?
3. In a suburb of Stockholm there were 21 cases of injury due to moped accidents in one year, while in a city parish with the same average population size (80,000) only 9 such injuries occurred (see table).

	No. of injuries and person-years by age and area

	Age

(years)
	Number of injuries
	Number of person years

	
	 suburb
	city
	suburb
	city

	15-19

20+

total
	20

1

21
	7

2

9
	4000

76000

80000
	1000

79000

80000


a) Calculate the incidence rate for the suburb and the city parish, respectively, without taking the age distribution of the two populations into account.
b) Calculate the specific incidence rate for each age group in the suburb and the city parish respectively.
